N 107
APEH

I : 2 AT TeRUT ¥ : 200 eRUT U : 200

wrefte aaTdier s o= FEISomET YR el Y9 HHTE 1 d 2.

1. TTAT WA HTIE G T8
(A) T Ry (8) AwETE BEwer () avete e () or e

2. T AR TEa.
(A foran formreon (B) regwfra fergvam
(C) VTR (D) FHATES fargror

wTelier el STaRRad year foramue i@, Ye FHIH 3 d 4.

3. ISl AT 9.
(A) Terder fopamag B) sFdF e (C) IwTafw fRawe (D) IR AR

4, 9T 309 9.
(A) T fehamag (B) WSt framge (C) TR Thamag (D) e foramag

5. YN vrear= S ATsEl.

(A) TIAITTF B) Ttarer® (C) HTAGTHH (D) ITuTHETH
6. IRAR 1 Iee=T TFT HITT ?
(A) TH ORERUELE LR
(C) YTog () fersraor
7. ‘gefl SEER SHAl AT FTEITAIS eed T eI ST,
(A) T&ft (B) &S C) = (D) s
8. ‘TITETSY R I e A1 ATl Yeaar ITeu 3N,
(A) g1t (B) <1 () farrt (D) &
9. YIg F1UAT [Avhi=n 3T 4 N .
(A) FT (B) 3TfereRoT (C) 9T (D) ITUEH
10. ‘Td SIS 37TE=TA FI0ATA TS B4 . AT AT e 3@l
(A) Ut STFTEZ (B) el aduHHRS  (C) A IR ) Tt saerTes
11. ‘T | T wE AEE
(A) TSIt (B) TAATTHTS ©) Tft adamwTs (D) AT
12. ‘T SIS WTSA ST . I7 FTaT ST s[ehtes .
(A) 913 TRIST ST AT 3TEA. (B) =T TS YITSd 7T,
(C) T TS FSd STl (D) e TS IS ST &I
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13. "HETEH MR e areel’ . W9 S,

(A) THdE HAd (B) Hadl
14, 7Y TEde FrEr@r. AN Sl
(A) el (B) 9
15. ‘wiieror’ a1 Arnfirers wreeren GH TET.
NEEEREH] (B) 3Tt
16. ‘onerolt’ =1 @i veamEn faur faen,
(A) &R (B) ik
17. 7 + =7 Geft o,
(A) TS (B) TSt
18. Weiidl I15R AT STTHR el
PicaucagEcill
Tyt e o - |
(A) T (B) 3Tgel
19. WITAUhT IV AT FgHt SFepar=rl 3Tead 2
(A) SIS (B) =HTfSToaT
20. M IRATIAHT eHt oI Fe AR ?
(A) Toa=m (B) sga=H
21, 38’ a1 weera whfertt g 2
(A) < (B) T
22, Hog TETUT EIATES) STE S N
(A) Tt (B) T
23. ‘fiyaerll’ wos
(A) HHY ST (B) = @TOTRY

24, SRR § ST IRET AT

(A) ITETE

(B) T

25. 'Y @I IS0 AT FTRgErE 3o w1 2

(A) TTILE

(B) IR A T

(©) SAfrh
(C) &R

(©) FHFI=H
() TR

(C) TeaTel
(C) 7 TEvmT
(C) TEs

(C) AN TqU

L 00
(D) IrFHHF FHadt
(D) HehIof
(D) 58

(D) TAF &Nl

(D) ofs=y

(D) Y2 wrEe

Make the sentence using Present Indefinite tense with suitable forms of verb given in the bracket.

26. Buses

on this road every hour. (run)

(A) Buses run on this road every hour.

(C) Buses running on this road every hour.

(B) Buses runs on this road every hour.

(D) None of the above

Make the sentence using Present Continuous tense with suitable forms of verb given below.

27. She for America next year. (leave)

(A) She leaves for America next year.
(C) She left for America next year.

(B) She will leave for America next year.
(D) She is leaving for America next year.

SPACE FOR ROUGH WORK
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Make the sentence using Future Continuous tense with suitable forms of verb given in the bracket.

28. Richa_____ foodwhen her friend arrives. (cook)
A) Richa will cook food when her friend arrives.

B) Richa will cooking food when her friend arrives.

C) Richa will be cooking food when her friend arrives.

(D) None of above.

(
(
(

Use the suitable form of Infinitive/Gerund in the following sentence.

29. She has given up on her friends advice.
(A) smoke (B) smoking (C) to have smoked (D) to smoking
Choose the most suitable alternative to make the sentence logical in sense.
30. The executioner __him till he died.
(A) hanged (B) hung (C) hang (D) none of the above
Fill in the blanks with suitable prepositions from the alternatives given under each sentence. (Q. No. 31 to 35)
31. He made insulting remarks that are derogatory ___ his reputation.
(A) for (B) to C) in (D) into
32. Now-a-days there is rage __ pop music among the Indian youth.
(A) for (B) with (C) of (D) to
33. He decided to enter anew course of life.
(A) into (B) upon C) in (D) for
34. Thereisnolimit the wants of man.
(A) for (B) to (C) of (D) with
35. Everyone was greatly amused her ignorance of simple facts of life.
(A) with (B) by (C) at (D) of

Choose the correct meaning of the underlined Idioms in the sentences from options given below (Q. No. 36 to 38).

36. The boy turned a deaf ear to the pleadings of all his well-wishers.
(A) listened carefully (B) was deadly opposed
(C) posed indifference (D) not sympathise with

37. The popularity of yester year's superstar is on the wane.
(A) growingmore (B) atits peak (C) growing less (D) at rock bottom

38. If you rub him the wrong way, he is bound fo react.
(A) annoy him (B) abuse him (C) flatter him (D) encourage him

In the following questions you will find sentences, part of which are underlined. Compare the underlined part with
options given which is an improvement upon underlined part. (Q. No. 39 to 40)

39. You should avoid to make such trivial mistakes.
(A) avoid making (B) avoidtohave made (C) avoid make (D) noimprovement

40. Kthe room had been brighter, | would have been able to read for a while before bed time.
(A) Ifthe room was brighter (B) If the rooms are brighter
(C) Had the room brighter (D} Noimprovement

In the following sentences a word or phrase is underlined. Choose the word nearest in the meaning to underlined
part.

41. The inspector was a vigilant young man.
(A) smart (B) watchful (C) ambitious (D) intelligent

SPACE FOR ROUGH WGRK
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The following sentences consists of word or a phrase which is underlined. Select the word or phrase which is closest
to the opposite in meaning of the underlined word or phrase.

42. The visit of the Vice Chancellor has been deferred indefinitely.
(A) expedited (B) dissolved (C) postponed (D) put off

Select the most suitable alternative to fill in the blank/blanks in the sentence to make it meaningful from among the
given alternatives. (Q. No. 43 to 44)

43. Thesaltsprayhasgradually the bridge.
(A) spoilt (B) ravaged (C) demolished {D) eroded
44, | you to keep quiet.
(A) beg of {B) begfrom (C) bej (D) begtor
In the following passage there are blanks with questions No. 45 to 50. Choose suitable word for the blank.
Books give us allthe information 45 __aman. They show his interest. They arethe _____46___to his mind.
All the riches of the world lose their importance in the face of books. A man, withmoneyand 47 books is
a poor man. Books have become so cheap that a library can easily be made. Money spent on good books is never
48 . Itis a pleasure to read good books. Thus man gains both _____ 49 and wisdom. You can
_ . 50___ yourlibrary with the expenditure of only a few hundred rupees.
45. (A) about (B) for (C) through (D) from
46. (A) road (B) access (C) index {D) approach
47. (A) some (B) with (C) few (D) without
48. (A) recovered (B) wasted (C) justified (D) withdrawn
49. (A) efficiency (B) knowledge (C) cunning (D) skill
50. (A) form (B) gather (C) begin (D) constitute
51. ‘TSt wESTET USATNE IO TERR ST BT 2 |
(A fad ®) faere (C) TS (D) TS
52, ‘fewregll e sfear oymrehal T TG TR,
(A) sfem meht (B) ufed 5% (C) weTe e (D) WA TTG
53. WETeHT M HERISIT hid T8 TTIH Hefl 2
(A) HaTwTH (B) UER (C) T (D) It
54. AT fth Seare Rerrll STHele ST TRl fohd) TR 371 2
(A) 11 (B) 21 (C) 14 (D) 24
55. "R TTRRoTdiel faemse’ o7& emiomett w=2vr 2
(A) TETeHT TITERT (B) TUTES FoT e
(C) TreTTs ASA (D) ToROrsTaTeT TEan
56. 3H.1911 HEd VI WERISI=T SO hIGRTqd < Q.3 g,
(A) SR /TS (B) MY G (C) W1 T (D) THEH T
57. gfora SgumETS! emfarn amt vl fesmre 2
(A) 3feTa THTSTH (B) wefd &a (C) Tl 3T (D) Ad C =l
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58

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74

. ‘oHard B g A S S 2
(A) TETHT T (B) &l #a
(C) Tl TETER HATTTH
TIETE B Seh HIMEHNAT 3T ?
(A FH () (B) T (ORERIG

(A) HaIET (B) Tl (C) "&"
“werTfeie T feRTa SIS IO | gE el ?

(A) 2 321 1979 (B) 2 32T 1980
29N AR TR @refterdsh! SeTeE 3t ?
(A) T I (B) TXEIS Ie4
Wreieieh) oY @d THE NS @d’ A1 TR I TRl 2
(A) e (B) Fftn

e 3ifire o ST At R AT AT R e 2

(A) el (B) BTAGISH (C) IATfRASH
ear sfdfeedn my woft am@Een 2

(A) 20 S (B) =A (C) A
FYAGEA] WIS Ueheh I 2

(A) e (B) & (©) vqd

E = mc? &1 frgia shioft et ?

(A) ufew (B) SATETEIEA (©) Tifafeasn
“yETIEY 2 F9ME THE AR 2

(A) T= (B) TTATTEHT 3T
(C) T A (D) THT
TeR Temefie Y@ BT vl 2

(A) Fsa (B) Y (©) ¥
SETE T IRUIR FTE v ?

(A faaes (B) e (ORESIEY
e frTEh v FeHed AT 2

(A) T2 (B) sdi&d (C) STAT

TS FrorgTel ITdes! el FoTY Sl IOl 2
(A) HETHe B) fEenr (C) T8

AT FHIUTeT TR atereTsl St SR 2
(A) &S B) et ©) fean
 “Afyes Uht’ o8 T YT e A 2
(A) eTare=IT et (B) Wie=a usfl (C) Tarfereiient

TR FEE @ HeTeraTaiersh /Aty auwEvie AT Tk v T ?

(C) 15 AT 1981
(C) SRRl JHTOT

(C) G hIEhe

107

(D) HREH

(D) 3refosft

(D) 15 HATTE 1982
(D) T JETOT

(D) FifEm gethe

(D) g
(D) foerest

ORIEEIEIS!
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75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

& (RN

ST T | _

(A) woft (B) FTdl (C) arTl weref (D) FIeH

2/ T T FI0T TR O TR —2— =7 TR s Tad 2

4 9

A 3 ®) - © 7 0 %
78 1 Fenroft T qran fend) 2

(A) 13 (B) 12 C) 6 (D) 26

Ifiet 2

(A) 21 (B) 12 ©) 15 (D) ATIHT T
a’=2
(A) 0 (B) a ©) 1 i) —1
23x20(4° 3% =9
(A) 23 (B) 22 (C) 2% (D) 0
164000 ="
(A) 1.64x10° (B) 16.4x10° C) 1.64x10° (D) 16.4x10°
02 + L B et ot e Evereneh vfierteR o e e 2
X
(A) £2x (B) +3 (©) igx D) i-g
89111 BT TUIRHR IS0 Wichciehl FIvrd g o1 2
(A) (a-b)? (B) (a+b)? (C) a2 + b2 (D) a?2-b?
999 x 385 = ?
(A) 306415 (B) 384615 (C) 384616 (D) 374615
3, 33, 333, T TN UTeeaT 7 Tt 93 o= Sis Shefl 37847, =1 s g
33T T 3 10T ?
(A) 1 (B) O ©) 7 D) 5
1 1 1
+ - =7
15%x35 35x20 15x20
1 1
(A) 1 B8) 15 ©) 35 o) o

SPACE FOR ROUGH WORK
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87.

88.

89.

90.

91.

92.

93.

94.

95.

016 7] G fareaTiia ST Teheh LTI 375k SHIVAT 2

(A) 2 B) 4 ) 6 D) 8
43 T 9T SITOTRY T o 2
(A) 32462 (B) 45768 (C) 87542 (D) 75334
8x0.08x0.008 =?
(A) 0.512 (B) 0.00512 (©) 512 (D) 0.0512
T HEI O TS T O F AT IR 3 A, T HEA 8 TSI & 4 3 ATeATH I H A5 ?
(A) 4 (B) 8 ©) 2 D) 7

e TTURTER 2T e sl 8 AT ST T AT e 4 Tl et B, Qe e UehTe e Wi ok,
W weret 2R foheft arema fepnft €1ga 2

(A) 4 (B) 8 (C) 6 O 5

ST Uiehs v Weeish H1 SE3TH 3R ?

(A) nm@maﬁf@ (B) W@Tﬁ?ﬂ%ﬂmﬁ@

(C) T ITSToRTS T foig, (D) R FuTa forg

T adeT B 5% N aefeard fme fRd e ared 2

(A) 5% (B) 10.5% (C) 10.25% (D) 10%

20 99, o5 ¥R T 1 T FT TAE 5 - 4 - 3 AT YA 10N Sefed @ 50 T 1wt fohelt Ao srerdiet ?
(A) 30 (B) 40 (C) 20 (D) 10

el st ST St % AdE @ W e

D) 7

(A) 25 By 17 €) 19 D) 37
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97. UTH IS QT SR WIS SR, € g wievfieh wrE AR w2

(A) HTe (B) gTm (C) TAaITS (D) v
98. Toh1 T1A Ul emar U erft, gon gerriat 2 geft, o g qefl JTST0T 45 A
3l TR, T 45 eTHEd WHT gt fopel 2
(A) 24 (B) 36 (©) 28 (D) 8
99. Il Tt I foig Sirge oTord faeht YT e I 2
A
E G
B C
F
(A) 15 ®) 12 ©) 9 D) 3

100. FEa= HATHd THoT fohelt =i aTRa 2

(A) 9 ®) 5 €) 4 (D) 8
101. Wielieeh! HIvear AR TR SE-T= STEvgHdT 3/ ?

(A) AR IR ®) foga it

() T TRt (D) O gd TR yraE
102. ANGA RIS

(A) TREH g A vy R,
(B) MW FHT FdisH 01, Hmmat Ei@ 0 v 2.
(C) TGN FHTE! AT HIfee, HHTETE I T a1 2 FTEW 6 8.

(D) s8d A, B, CTd
103. . TH. . TOR ‘A0 $I7e’ I1 TTEsreaT e YUt WY WCHTT T 3T,

(A) 841x1189 (B) 880 x1230 (C) 420 x594 (D) AT T
104. AT FIVTIUTER 31 T A& Ao Iffert BEENICCIASIGE

(A) H,2H, 4H (B) HB (C) B, 2B, 3B, 4B (D) 0 gy
105. STRGTATS! FTIRATA AT} eI HI0Tet TR ?

(A) STRGH Heteh, A T, firdf) groex (B) HIHTIS, HUTE hehdeh

(C) FARAA, TAGSE, ATTese (D) Wt AT B uefie wd
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106. STET S1S<AT ST HeT=d1 Teh] IRE ____ YTl GLaUE STrede srdd . foamm 3uam afd o

TEUH el ST,

(A e (B) IregfHi-ay (C) TEHTSE (D) 5
107. B 3 91 STRIT=AT 3TREH HeAT= G5 Wiefierdeh! shor ?

(A) 420 HHI x 297 Tt (B) 500 HTHt x 350 HiH

(C) 700 HHT x 500 Tt (D) A, B, Cd s

108. TRGTHTE STRUATA JOMT=T ITFIUT=] GAVATHR & TAITUIAT ] SSTHR J ITARTIIER SN T
FH TTAAIHT T J5A.

(A) ThHeT, ShIHYH, TG (B) frtgTHt
(C) & TSR, IS (D) T AT
100. STREGTHEN 120 I Y& STEd SATHT djes HIGUATHTS WIEAICTTehT FHIUId ITEHLOT ITI0 HIge 3R 7
(A) ST FHIH (B) ehefa R (C) FITE (D) adel e I
110. SFA@AHE JSWIT= F21, TR 9 S9! I SrafuarEe! J9T ITHATA.
(A) T2 2722 (Thin dotted) (B) Tor & FI=1318 (Thin Continuous)
(C) forF F-2=g37% (Thick Continuous) (D) I T Lo
111, ARGAM 7 feHUT (Hidden) I89TT ST@fevaTETa! J97 AT

(A) TR #9378 (Thin Continuous)
(B) mﬁ?mm El mmfﬂ? (Alternate Thin Continuous and Thick Continuous)
) o giee, 2 vt o 3 1 ot T
(D) Tores gieg 5 ofiefi oirer g 2 Wit 19

112.  FREAH D¢ (Section) T vt [T TR
(A) T ®Z 9T (Thin straight line) T 60° =T M SHTUTTT
(B) T € 2 X1 (Thin dotted straight line) & 30° =T &1 0TI
(C) qH T T (Widely spaced thin line) 3TT%e TTSART 45° =1 1 shetedl 174 1.5 HiH fowean
Yymefia Faw o= T
(D) FIUTETE TRR Sr@e afl =Terdiel v ST 98 3T 19 U SEva

113, TFTI TR FOATEE! SI0d GHIOT SR S 7

(A) f’?ﬁg&ﬂ@ﬂ (Reducing scale) (B) WT%&T Fd (Enlarging scale)
(C) AT BRI (D) Ad B Il ATl

114. TOIZzfz= $39M (Representative Fraction) @Teict WHTO! 1T,
(A) T 52 AT AR ST SAlelt
(B) SATTEATE oATet IR Sq=hl qes el
(C) ST A= T[Tt 21 e SEgel qe A

(D) T AT

115, 5 ) dergdd SEzT 3 G 9L 0T HUFTETal 1 ¢ 4 THTT TS Tohel GO FHL0ATE13] NIEIEI!
TETAHAT AR
(A) 25THt (B) 50 THl (©) 12.5TH (D) 62.5 %
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116. 10 Tt Aieflen IvTEe GUITAHT Wiehe Hdl STawF TR,
A oo twEs PQ el §X Pa QI B PQ/2 Y& SITEd Bt S (TRaST=aT a1l T
FHUTE=AT Had [ T HIT I HE THITHHI e fagm v 11 #Te. sresieh 1w
WrEEE S Bad 1 B89 foig InTEeraT AL TR,
(B) WherTg! 1. 1NTEE HIS 5 Yrft wiiefler Yoraer=an Ashiarg Tk foig =, &1 fig tvrarsm g
(C) Ad B3Il I 37,
(D) AT B 3l eI TR,

117, SgSIThd = T STe1 e St 3.
(A) 900° (B) 540° (C) 360° (D) 180°
118. Wﬁmwwmmmm_ﬁ_@ﬁ
(A) =aTH B) B (C) 7ex (D) 3™
119. SR AB = AC / BAC =90° 9 DF = EF 9 AO = OB fig E ___ Heafeq TR,
C
5
A B
(A) =TH (B) U= (C) WHH (D) =R
120, FU SFHAT F 7T =1 HeAfoIg TR,
(A) =g (B) U= (C) Y& (D) T

121, THRH JET07 Ugd! 9e) Wiefier faammed Sivn fyum stet ot ?
(A) TE] IAT UTASITHR T ATSSAT TTdcdedTe] FEUSe IfedT Tng 3aef s1d
(B) T&] IVATIIA=AT AW 9 AT U= Gledl Teurer fore=am <o 3aeht s
(C) TTEVT & 3] UTae! AreTHeY T 3TEd

(D) AT C gl seR
122, 3TTS e fasreiedr gaqume TEUTATA.
(A) ZTTeg] () (B) Feeg] (3oieeyH)  (C) Qe (D) IEY v T

123.  AFdT Zoifaeiel fate wiven aigsm arfgcmardt are s ?
|

|
1/
S

B

(A) g serRm (B) Tl SMeI™ (C) TT%T (D) ATHHT A
124, ST Seifoeret faeiar Fomand s s ?

=

A) IfEa (B) TerEH (C) Tl FAWE (D) T AT
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125.

126.

127.

128.

129.

130.

131.

132.

133

H@eﬁﬁaﬁﬁéﬁmmmaﬁ?

(A) T (B) BI3W c) fora (D) TregTesEin B3R
STFdTa geiface e wemad) aTRe s ?

) D S

(A) UIST (B) Ueg AFH (C) TS8 BH (D) IR

Thdta Suifaeiet faTe semand) st S ?

C><D .. .
A) S T (B) T (C) fafem %= (D) W BRI

FTFATa geifaeie) foaTa wemend) aatet < ?

(A) THE (B) Tdd (C) B3 (D) I T

(A) 91 I FeAeee (B) AU S (C) ST (D) I T
ATFATT Fiaere faaTe HamEE 9T S 7

O---0O---O---0
(A) FUTHE Fie (B) T BT (C) THIF Ui (D) FTeT UTEY AR
U= fowE STrEETT gatd 918 &% Sl 7
A) Ft /7l & B) e &= (©) e & (D) he gd
YR AR 916 7 1R a1e Ued Fasmads fwm swamd! arefieriish siord) sTe soan 3d ?
(A) TRTRERTT = STRIER AT FOAH WA 318
(B) THRA TTeh™ Hewid am o wae
(C) S aefavar ey urde st

D) I FvaE) T
TEZTHEY Weleh ASedTel STEehHTe &A%a SIH<d] &k Y7 ST 9.
1A} T geranen (B) T =gty (©) o =gata (D) U= =gt
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134.

135.

136.

137.

138.

139.

140.

141,

142.

143.

144.

145.

A2- U RD

TRUATH TG Wied! 337, Wewr, deed, foaedin &7, 3endl a1t i = wetiar uftan foe w1 9 form 3=0)
(A) 9.50m2, 2.50m,2.75m (B) 10m<, 3.0m, 3.0m
(€) 7.50m2 3.0m, 3.0m (D) I T
SreERaTet ™ een v, Fem e, s sad s
(A) 2.0m?, 2.0m, 3.0m (B) 2.5m2, 3.0m, 2m
(€) 1.8m2, 1.20m, 2.20m (D) I A1
TR G e Ao sheadicl dveld fhan que aferet 3=t Yaredfiag FeqT
ELESELICR
(A) 1.05H. 91,408 (B) 1.0H.91.2591. (C) 1.0H.F1.0H. (D) 1.05 1.9 1.20 .
WWWWW ______ AT STeRT T I 1
(A) > . (B) 3 © 7 (D) s
28 T TN
(A) TRV STEHT &l SR SR &6
(B) TV ST &hes TS TRVT SErhTH &/AFe
1
() ?Iﬁrré STIRTH ETFRes AT S TS
(D) TTHT ATE
SR Tes ST TR oTe W Hd ISeald SUk T URV ES 3.
(A) 0.50 (B) 1.0 (C) 0.80 (D) 0.75
2 gt et 99 7
(A) ATIHITHR § AR
(B) STRGATEAT e Yoll=l STTawIshal 37e deal
(C) T BT (IS FEU[ AT ITHSA degT
(D) IHT B G C Bl et
s frdimaTd) araroara Jom=an dower = o fEere arE.
(A I e (B) foreest ATz
(C) =gz Tffie Srsehisa (D) oie Tfafess hiverd
froerg feeet 9 angst wtvren fae gvifaam ?
(A) forz1(6) (B) T (y) (C) % () D) T (¢)
_ =ofqq St waer #d.
(A) ufavrfig sifqgar  (B) wRled firmar  (C) MG (D) Ad B 2R
FTIARMEY ITTAT HITETS] SulT fHRr sTemvses: _SHATOT T ST A
(A 1, 1, W, 1V.... STSET (B) 1,2,3,4 .. JW9H
() A B, C, D, ..gmHm (D) =0 wd gHT
ACTIITHTHE I IUTTIETA AT JUTR IATSITH 'K AT ST 3780 guiferand ?
(A) T (B) I (C) ZAT ‘D) AR
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146.

147.

148.

149,

150.

151.

152.

153.

154,

155.

156.

157.

158.

158.

160.

AT FaTier TRl difyes T %U'eﬂ*é SR ST,
(A) TTEHATAT (B) TTATEATT C) =M (D) qEAITTT
W‘W%ﬁmmwmﬁvﬁmmm ?
(A) Tare B) frew (C) TTfIEy (D) TTES
SYTIT THRA STYHTHHE HEAT=a1 H1Td T I SR SF0ATd A TR,
A) ATERE (B) TeITH ©) TH (D) IR
FARAMAE AYASH T YR BoEE STUATH AT,
(A) fom (B) &GS 'C) Fasd (D) FETTET fohart sToehel
ThT HTATA GEAT ASfedTal ST STRvdTd AVt fS=mg g1 Savamanet a8= o mem frevarerd
foen ARl stera e T aEfdea s TEUIAT.
(A) HUEA (B) TTET (C) Tuetd (D) THIYedTe
e (ym=om__ Hew (radian),
A 1 egm (B) 1fg (C) 10800 ez (D) 1/10800 R
YIS (sentesimal) Tfemgar @ e Bisvarard AT,
(A) ferft ®) e C) Ue (D) tfeam
frefmmasia (mu) ot e
(A) 10731 (B) 1076 () 1079 : (D) 10712}
JefedT qEaTTIEIel THIEHE (spherical) 3111 o WA STt I =T SHoMmE el W U Yehe STEeTT

HI%s 3111%1.
(A) 100 feret anf B) 200 ferHt = (C) 195.5 ferrft ot (D) 185.5 foprft at

Wﬁm%@n@@ﬁﬂﬁmﬁmm
(A) TTIET] =TT n fesgieg 4 (n-1) feegiomg safar Shar=ar n ﬁﬁﬁwaﬁmw
B) s o= n fesd—g ¥ nﬁ—e"rwumnﬁ@m’m (n+1) Tesdisrmg ned oo o,
(C) T A= n feediera Yt n feadierg wiier e n%o%ﬁwmﬁr%méwm
D) A9 BRI aiTen,

HISHTY SAMT ST S H=T 74 Stvama Igd I,
(A) Ut (B) FigT () fargirex (D) 27 iE W
IS SUATHTE SToRvI T o= 712( S| (Gunter's chain) ai@:g (Revenrue chain) RISl Wﬁ
AT
(A) 66 %2, 33 Fe (B) 33 %2, 66 |2 (C) 50 %2, 100F2 (D) 100 %2, 50 B2
A) 50 %2 (B) 100 | () 50T (D) 100HIX
iom g =i amefl 7Ed. .
A) 2T (B) 3T (C) 47T (D) 2 HTx g 3R
AT TS o1 EATET SiTa HsvaTE TULAT.
(A) fFeriier (B) T sie (C) Tregd (D) T AT
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161.

162.

163.

164.

165.

166.

167.

Aa- |

o AN T e Misvaraial ClELGIGR

(A) T s (B) HH W% (C) WEFX (D) I T
68°32' 31 BIeEeha faeTfim (W.C.B.) midreet it o wyiew =1,

(A) N68°32'E (B) s68°32'E (€ S68°32'W (D) ITHhY ATET
W=t oo st 3 wr fRerfty ae R I,

(A) 90° (B) 180° ) 270° (D) aThY T
I 29 Heg U

(A) I Mitheet Bere wed fhee ek 9 wiifon areled e 3
(B) ¥ WIfthehe Hure Hed fhes o & eAifen SvmavTesa Ukt St et 3 7et
(C) Tohee g ol Sheamar 1iftsamed) wifan amvarg 33

(D) A AT
THTHE HEVATd HTeled] AFA T HEvaHE FToRAT.
(A) et T (B) e ©) Trnids Hur (D) arefies

T 8% T Wiefierdeh! v T ST 39 7

Aa M= el U, FR = sifem RfEn, | R = geards fifd, N = SRIEH 0 HTeh fohell Sea1 U e,
C = foris

(A) 8%& = M (F.R. - I. R. - G&aTda RS 4+ 10N + C)

(B) &T%& =2M (F.R.—L.R. + 10N)

(C) &% = M (F.R. + LR. + 10 N)

(D) I 1Y

EERIER=AS |

(A) 100 Reee wrae svecren #w fBr fig

(B) 0 fiseyes viae s fig

(C)m%aawéwﬁ‘s‘g@mwf@?%@

(D) I T

168.  SHICHEYH AT (Collimation Line) TEURY
(A) TH T3 B o AT Iohel Y AMT TSV e
(B) ITEdg=n shefog 7 tfesiae e Shefiig Seom o
(©) a1 i Wiad Sreeet o off eiméa
(D) FheTIH 1)
169. e T (Box Sextant) EIERISCIEGIGH
(A) ®h 90° =T 37T (B) 120° =T 37T
(C) 120° =471 aRieT 9 180° =T AT (D) AT B3
170. 3 Hegert a1 AT Il
(A) BRIFTea Tt HistoaraTd (B) =&FwA 3T WisTvaTETS
(C) A3 B JEME (D) Ad B araTdiE At
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171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

3FSITE (Ediograph) =T a1 Fam.

(A) TIRIHE 311% WTH (Enlargement of plan)  (B) Fs#e 3T% %M (Reduction of plan)
(C) AT BardEE (D) AT} ATER
ﬁéwﬁaw@ﬁﬁmmonﬁaaﬁaaﬁwﬁzﬁ%m.sﬁ.m@aaﬁaﬁzﬁ%m 650 M 3T T
1 forget frese deew (R.L) &1 o809 7

(A) 96.85T. (B) 103.1541. (C) 100.1541. (D) 99.85 1.
et FEGT SR Freeren o 9y

Ay Tasmmar (B) ZUFTA (C) Tost Far (D) =TT T
Aearea Sl SHeR Hiaeie s aieft Fiteh s/iet av

(A) ST S TRy 37Ed (B) & ST UHET THA

(C) SiaT 3 =T AR 31T (D) SfiaT1 9 =T TG SrEdE

(A) 3MEHH (B) THH (C) |HTHR (D) ATIY AT
BT S % = ?

(A) 9T x 3 (B) 9T x I x 0.5 (C) 2 U1 x I (D) T <1
AT YA STER 1 JRTses a7 7

(A) Rsrragon (B) Arfitiea (C) A e OIRICEIRCE]
INTCT TS STATRY0 afwran ket areq ?

(A) 5% (B) 10% (C) 15% (D) 20%
FAA (3Th) TIR FLAMT TS IV THR Tl ST 7

(A) THTER (B) <Asrard (C) AR (D) 3%
wmﬁ%a@éwﬁnmwmmmsﬁﬁéﬁm__ TRUTAT.
(A) 3T T HE (B) 3Te1 3% o

(C) T 3ATF Feh (D) ATl YR T&T FTogT s

YR Ufefeey vt

(A) TRUTERTA &A1 JE3UTTH feetell 31T 3a)
(B) ISVIERIE TEAT=AT YS9 fecien 371 3aR
(C) T ™1 ATSAT 3dR

(D) | T 3IAT IAR

(A) TRl (B) TgUIIRh (C) Homeih (D) SRR
Fisheea fsromr=h wR @e7 oA aum feamm=ar araviiae astfef 9.

(A) 20 (B) 28 (C) 30 (D) 35
TS nEmeTel g %6 ayEa,

(A) 20 HX (B) 25X (C) 35HIX (D) 45T
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185.

186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

16- NI A

SR aromeIin STefavaTesiar S WA 3T T ¢
(A) GifesTy S (B) Tefihe HfArm senrse
(C) Mfeam Fse (D) =g

SFifereean fasroren s Rl foeh s 7

(A) TIfhe TSI oAl

(B) HifheAeT T JaTUTG ol fraasvarTeRicar

(C) HifheAHT T TSI T WehosdT AT FHLOATHIAT
(D) Fifhe T F@e Yr=ard Sire ot v

STAGT GesTfl R HeH Fvarel 7 et STHE eRT YelTe U SO ehRaT S SRTde e A 7
(A) TS FT5HeTH (B) TH HI&HeyH (C) U FIHEIH (D) BIETFd! BISHSIH

o= i T vaTand) ST dErEn a e S ?

(A) fremms (B) HTTHNITS ©) e (D) REIHT
SROTITEA 9Tof Srasti-fier desriauamesiar AT

(A fafed (B) (C) hrewa (D) $=F%

T TATd ShleAcdl ShicTs oAl __ FEuIdrd.

(A) Theg Faia (B) [T FATed ©) fe=fegett (D) s FATA
ERUITTEA SHIGUATd A0T=T HTcTedTd FEUTT.

(A) T HTAT CEEEEISEL ©) fe=isget (D) e =Teran
fersRTeTat HevarTa STTeTea Ty qTvaTe RrsTfevaT stietes Thvt ST TUieR 37 e FEUTAT.
(A) TEdiFer 2oy (B) T2 2 () Tea (D) 1Y aTeT 39
TETETde g A1 fasTofl ot weneh faga fifdd et sma ?

(A) T (B) STerfarqd (C) vaaTaEE (D) TS
TERTCSIATA ST T8 U0 fS7egt shivrat 7

(A) qo (B) graw ©) faygi (D) BT

Tl Heho U IeieY 78 o] Ruas s 16 a1a) aavoana Jom=a wemy aieqmr IR
FEd 1.

(A) 0.741.0%%H (B) 1d2TH (C) 1d52H (D) 0.590.82&
[EEERERIE R IS 1= BT ACE [ i ae e 3794,

(A) 50 A st fafie (B) s0 forr wdft &g () so farrwel ffie (D) 30 foren weft T
&= T el we stresecte @relt o= SEmm TEUTAT.

(A) ITF (Chak) (B) W (Minor) (C) TAAH(Tumout) (D) scTleh

o= T Tomefiae S ideargT Sasl st sara ool ey @ __ R,

(A) Teetism avem @®) e atdm  (C) e (D) ZHeTTae
TR H13 TrZH YR Yehed fe=eae #fieg (Dependable yield) @18} FigvaTa 7ard.
(A) 80T (B) 1002 (C) 75%& (D) 502
ST SIIa JISToaETa! ATRAT.

(A) BTN 3ifaar  (B) U9 SeaTaRet (C) [T Hrex (D) =T TS WX
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